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“All Questions Carry Equal Maiks

l.a)  What are electric drives? What are the main advantages and applications of electric drives?
b)  What is meant by load equalization? Discuss its purpose. [8+7]

; . or for electri¢ drlve appllcatlo :
/A motor.fitted with a fly. wheel that supphes a load of'torque 500m for- 334 sec. durmb-. no. .-
load period the fly wheel regains its original speed. The motor torque is required to be
limited to 400n-m. The no load speed of the motor is 800 rpm and its full load slip is 10%
( ~ determine the moment of inertia of the fly wheel. [8+7]

voltage [8+7]
4.a)  Describe with neat sketches various methods of electric resistance welding. Give its merits

and demerits with respect to arc welding.
~-. b)  Explain“the difference-between carbon-and metallic arc” weldmg and give their relatiye -

_ _‘merlts and dements [8+71

5.a) State and explain different laws of illumination.
b) A lamp with a reflector is mounted 12m above the centre of a circular area of 24 meters
diameter. If the combination of the lamp and reflector gives a uniform Candle Power of
1000 over the circular area, determine the maximum and minimum illumination produced

on thg,.arq_a. P [7+8] .-

b) A lamp of 500 watts having MSCP of 1000 is suspended 2.7 meters above the workmg
plane. Calculate i) Illumination directly below the lamp at the working plane, ii) Lamp
efficiency iii) Illumination at a point 2.5 meters away on the horizontal plane from

vertically below the lamp.

(8+7]

ion? Ijié'cuss the i

i b) :DIS(.)USS ﬁl details the regeneratmg brakmg scheme for electrlc drives. Also list their
advantages and applications. [8+7]

Explain the different factors effecting the Specific Energy consumption.

A suburban train runs with an average speed of 36 kmph between two stations 1.8 km
apart.‘The values of acceleration and retardation are*].8 kinphps and-3.6 l\mphps Caleulate™
;.the max1mum speed of the tram assummg trap6201dal-~speed~tlme curve ; [8+71
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